TEMRE (HEBIERE) (D) 16, 850, 000
FHAE AR (HEBIBRE) 13, 480, 000
ARLFE (BAEFHMEFLSRN NEX) )
1. fF & CFER3 TR = E) IR e S B A B4 SN [EE TR EMEORE K4 KB gt [/
XX HAT B
2. FURFBET = EN)EE ST
VA | B4 ZENJIEEFGIREREER R4 HE 7 A
3. AMLB R FE314 4H 5H 108004
o %51 [ %5 2 [ %5 3 [m]
E=Zd @“ NFLATIASE %1 filiks 5. (C) R NFLATIASE %1 filiks 5. (C) R NFLATIASE %1 filiks 5. (C) S i 2
(B) 30X {1-(B) /(D) } 0 + (© (B) 30x {1-(B)/ (D)} 0 + (© (B) 30X {1-(B)/ (D)} » + ©
ML Y~ () 38 13, 480, 000 6 44 - - - - — —
(Bk) =&EFk= vz b 41 15, 000, 000 3.2937 44. 2937 - - - - - -
(BR) X7 w7 46 13, 480, 000 6 52 - - - - - -
y N P _ _ _ _ _ _ % AL
AN IZ AAN( ) 48 13, 480, 000 6 54 (RR31%E 4A108)

¥ ERAFIL, MLAEDREG > 723G EEHD 1 085D 1 0 0ITHY T L TH 5,

11




ERS1EE ZEAIRTERERER

PSR OPER G FFAMTE AL 5 T

7 R—=PI )

] AR A TR
eSS G ) "
EATEER) HARRE ePULY
INEE SEEME INEE Bt
& (A) (B) g 5 g pos s | EiAA
z ST EBEME m i Sl
B | HEXEEEH T e N MUER | gy | #mmin | () |Anem FERHDORRE o) | B | T |rer©
KB RBAME| @RETon | RBIA| 250 | mamrson | RBRE | XBRE | R EIRR] Briis (BRI S| HiER ® | =0
%) ®) (BRER®) é’lﬂ é’lﬂ + (D)% (E)
2 4 2 2 - 0 10 3 3 10 4 2 15 15 30 - - -

1 [mEpvomsan 2 2 - 2 - - 6 3 3 6 - 12 11 9 20 - - - 1.00 | 20.0000 | 38.0000
2 (BESHERHRTL| 4 2 2 - - 10 1 3 7 - 1 1 9 20 - - - 1.00 | 200000 | 41.0000
3 [mamness 2 3 - 2 - - 7 3 3 6 - 12 15 12 27 - - - 1.00 | 27.0000 | 46.0000
4 [pluavonsevERS | 3 - 2 - - 7 1 3 7 - 1 15 15 30 - - - 1.00 | 300000 | 48.0000




